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B. SC. (HONS.) BIOCHEMISTRY 

(BSCBCH) 

Term-End Examination 

December, 2022 

BBCCT-109 : METABOLISM OF 

CARBOHYDRATES AND LIPIDS 

Time : 3 Hours     Maximum Marks : 70 

Note :  Attempt any seven questions. All questions 

carry equal marks. 

1. (a) What are anaplerotic reactions ? Give an 

example. 5 

(b) Write the first reaction of glycolysis. Why 

is this reaction not considered to be the 

committed step of glycolysis ? 5 

2. (a) Draw TCA cycle. 5 
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(b) Which three reactions are unique to 
gluconeogenesis on the conversion of 

pyruvate/lactate when compared to 
glycolysis ? 5 

3. Explain the pathway of glycogenolysis. 10 

4. Describe Calvin’s cycle. 10 

5. (a) How is blood glucose homeostasis 
maintained in animals ? 5 

(b) Write a short note on ω  (omega) oxidation 

of fatty acids. 5 

6. (a) Compare synthesis and degradation 
processes of fatty acids. 5 

(b) What are four stages of cholesterol 
biosynthesis ? Explain briefly. 5 

7. Write reactions catalyzed by any four of the 

following enzymes. Also indicate which 
metabolic pathway these reactions are 

associated with : 4×21
2
=10 

(i) Glycogen phosphorylase 

(ii) Acyl carnitine transferase-I 
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(iii) β -ketoacyl ACP reductase 

(iv) Pyruvate dehydrogenase 

(v) Phosphofructokinase 

(vi) HMG-CoA reductase  

8. Explain intermediary metabolic changes during 
fasting.   10 

9. (a) Define obesity. Discuss the role of leptin in 
obesity. 5 

(b) Write a short note on pentose-phosphate 
pathway. 5 

10. (a) What is ketosis ? 5 

(b) Outline the metabolic pathway of 
photorespiration. 5 
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      BBCCT-109 

tSojlk;u esa Lukrd (vkWulZ)   

(ch-,l-lh-ch-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- ch- lh- lh- Vh--109 % dkcksZgkbMªsV vkSj fyfiM 

dk mikip;u 

le; % 3 ?k.Vs     vf/dre vad % 70 

uk sV % fdUgha lkr iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds 

vad leku gSaA   

1- (d)  ,ukfIyjksfVd vfHkfØ;k,¡ D;k gksrh gSa \ ,d 

mnkgj.k nhft,A 5 

([k)  Xykbdksykbfll dh igyh vfHkfØ;k D;k gksrh 

gS \ bl vfHkfØ;k dks Xykbdksykbfll dk 

izfrc¼ pj.k D;ksa ugha ekuk tkrk \ 5 



 [ 5 ] BBCCT-109 

  P. T. O. 

2- (d)  Vh- lh- ,- (TCA) pØ dks vkjsf[kr dhft,A 5 

([k)  Xykbdksykbfll dh rqyuk esa ikb#osV@ysDVsV ds 

:ikarj.k }kjk Xywdksfu;kstsusfll dh dkSu&lh 

rhu vfHkfØ;k,¡ fof'k"V gSa \ 5 

3- Xykbdkstsuksykbfll ekxZ dh O;k[;k dhft,A 10 

4- dSfYou pØ dk o.kZu dhft,A 10 

5- (d)  thoksa esa jDr Xywdkst leLFkkiu fdl rjg ls 

cuk, j[kk tkrk gS \ 5 

([k)  iQSVh vEyksa ds ω (vksesxk) vkWDlhdj.k dk 

laf{kIr o.kZu dhft,A 5 

6- (d)  iQSVh vEyksa ds la'ys"k.k vkSj fuEuhdj.k 

izfØ;kvksa dh rqyuk dhft,A 5 

([k)  dksysLV ªkWy tSola'ys"k.k ds pkj pj.k dkSu&ls 

gksrs gSa \ laf{kIr esa crkb,A 5 
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7- fuEufyf[kr esa dksbZ pkj ,Utkbe }kjk mRizsfjr 

vfHkfØ;k,¡ crkb,A ;g Hkh Li"V dhft, fd ;s 

vfHkfØ;k,¡ fdl mikip;h ekxZ ls tqM+h gSa % 

4×21
2
=10 

(i) Xykbdkstu iQkWLiQksfjyst 

(ii) ,lkby dkfuZVhu V ªkaliQjst&I 
(iii) β &dhVks,lkby ,- lh- ih- fjMDVst+ 
(iv) ikb#osV fMgkbMªksftust 
(v) iQkWLiQksÚDVksdkbust 

(vi) ,p- ,e- th- dks, fjMDVst+ 
8- fujkgkj@miokl ds nkSjku gksus okys eè;orhZ mikip;h 

cnykoksa ds ckjs esa o.kZu dhft,A 10 

9- (d)  eksVkik dks ifjHkkf"kr dhft,A ysfIVu dh blesa 

D;k Hkwfedk gS \ 5 

([k)  isUVkst&iQkWLiQsV ekxZ ij laf{kIr fVIi.kh fyf[k,A 

5 

10- (d)  dhVksfll D;k gksrk gS \ 5 

([k)  izdk'kh; 'olu ds mikip;h ekxZ dh :ijs[kk 

le>kb,A 5 
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